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The united States is a varied land of forests, deserts, mountains, high
flat lands and fertile plains. Almost every kind of climate may be found, but
the country lies mostly in the temperate zone. The continental United States
stretches 4,500 kilometers from the Atlantic Ocean on the east to the Pacific
on the west. It borders Canada on the north, and reaches south to Mexico and
the Gulf of Mexico. A railroad train traveling 96 kilometers an hour takes more
than 48 hours to cross the country.

A jet plane crosses the continental United States from the east to west in
about five hours. Taking off from an Atlantic coast airport, the plane is soon
flying over the gentle slopes of the Appalachian Mountains. Then, for hundreds
of kilometers it crosses the fertile fields of the farm belt of the great Middle
West. To the north, on clear days, passengers may see the five Great Lakes
located between the United States and Canada. Continuing into the West, the
place flies over vast prairies” and rough cattle-razing country. Soon the snow-
topped Rocky Mountains appear in the distance. After crossing these high
ranges, the plane can almost glide down into the rich valleys of California
and, finally, to a landing not far from the beaches of the Pacific Ocean.

Including the states of Alaska and Hawaii, the United States covers an
area of 9,363,123 square kilometers. Alaska borders on northwestern Canada;
Hawaii lies in the Pacific 3,857 kilometers from the San Francisco. Alaska is _
the largest area of the 50 states, and Texas, in the southern part of the
country, is second in size. Texas alone is larger than France, and Alaska is

twice as big as Texas.

@_—L @ prairies K 2 &
—v

1. The United States lies mostly in

A. the arctic zone B. the tropic zone
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C. the temperate zone D. the sub-tropic zone
2. Canada is to .
A. the south of the Gulf of Mexico B. the south of the United States
C. the north of the Gulf of Mexico D. the north of the United States
3. The main idea of the second paragraph is that
A. on clear days, passengers may see the Great Lakes from the plane
B. travelling by plane in the United States is better than travelling by train
C. the Great Lakes are the most famous tourist attraction in the United States
D. crossing the United States in a jet plane takes five hours

4. The topic sentence for the third paragraph is

A. the first sentence B. the second sentence
C. the third sentence D. the last sentence
5. The area of the United States is o
A. as big as China B. smaller than China
C. 50 times the area of France D. twice as big as Canada

The U.S. spread over 25 degrees of latitude’, not including Alaska. Given
the vastness of the territory involved, one cannot speak of an American
climate. Seattle, in roughly the same latitude as Nantes, while New Orleans is
the same as Cairo. No wonder then that the climate in Los Angeles is so
different from Detroit. Such a diversity is enhanced by the variety of the
terrain: coastal areas, central plains, mountain ranges--:

The northeastern seaboard has a humid climate. New England and the
New York area are noted for their harsh winters, and hot, muggy summers.
The South-East ( Florida, Gulf of Mexico, Mississippi Valley) is subtropical
with temperatures rarely falling below 0°C . The central plains have a
continental climate with sharp seasonal contrast: torrid summers, very cold
winters. In summer, the variation from day to night temperature is

@

considerable. In the Northern pacific ( Oregon) , the fluctuations™™ are more
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moderate with rather mild winters and relatively cool summer. The south-west
enjoys the celebrated Californian climate with no winters and dreary and warm
summers.

Precipitation, commonly referred to as rainfall, is a measure of the
quantity of water in the form of either rain, hail, or snow which reaches the
ground. The average annual precipitation over the whole of the United States is
thirty-six inches. It should be understood however, that a foot of snow is not
equal to a foot of precipitation. A general formula for computing the
precipitation of snowfall is that thirty-eight inches of snow is equal to one inch
of precipitation. In New York State, for example, seventy-six inches of snow
in one year would be recorded as only two inches of precipitation. Forty inches
of rain would be recorded as forty inches of precipitation. The total annual

precipitation would be recorded as forty-two inches.

—] (D latitude ¥

@) fluctuations J5 ), #ik

-©
1. According to the passage, one cannot speak of an American climate because

A. it is a boring topic for conversation
B. there are 50 states in the nation
C. the country covers a vast area
D. it is always the same every year
2. Which state mentioned in the passage has a mild climate?
A. Alaska. B. Florida. C. California. D. Oregon.
3. The term “precipitation” includes
A. only rainfall B. rain, snow, and humidity
C. rain, hail and snow D. rain, hail and humidity
4. If a state has 114 inches of snow in a year, by how much does this increase
the annual precipitation?
A. By 57 feet. B. By three inches.
C. By three feet. D. By 114 inches.

5. Another word which is often used in place of “precipitation” is

A. rainfall B. humidity C. wetness D. rain-snow
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Tornadoes, whirlwinds, and waterspouts are rotating funnel cloud air
masses of small diameter. They are differentiated by the intensity of their
rotation and by the surfaces that they traverse. Though tornadoes and
whirlwinds both travel over land masses, whirlwinds are atmospheric systems
smaller than tornadoes. Waterspouts are tornadoes that form or pass over a
water surface.

A tornado is a powerful vortex or “twister” whose rotational speeds are
estimated to be near 300 miles per hour. The first visible indication of tornado
development is usually a funnel cloud. As this funnel dips earthward, it
becomes darker because of the debris@ that is forced into its intensifying
vortex. Some tornadoes give no visible warning until their destruction strikes
the unsuspecting victim. Tornadoes often occur in groups, and several twisters
sometimes descend from the same cloud base. The forward speed of a tornado
is normally 30 to 40 miles per hour. In the short time that it takes to pass, a
tornado can cause fantastic destruction. There have been cases reported in

which blades of straw were embedded in fence posts.

D vortex Jig A
2 debris /8

1. How are tornadoes distinguished from whirlwinds?
A. Tornadoes are larger than whirlwinds.
B. Only tornadoes are funnel-shaped.
C. Whirlwinds rotate in a different direction than tornadoes do.
D. Tornadoes travel over land and whirlwinds over water.
2. Why do tornadoes appear to be dark?
A. They pick up scraps from the ground.
B. They occur only at night.
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C. They are funnel-shaped.
D. They are water-laden.
3. Which of the following behavior is frequently characteristic of funnel clouds?
A. Lasting a long time.
B. Occurring in isolated areas.
C. Occurring in groups.
D. Descending from different cloud bases.
4. Some tornadoes take people unawares because they
A. produce a sound similar to' thunder
B. cannot be seen until it is too late
C. look so much like other clouds
D. carry many large pieces of debris
5. The author refers to straw embedded in fence posts in order to show
A. who makes reports about tornadoes
B. where tornadoes occur
C. how tornadoes affect physical objects
D

. when tornadoes take form

£y 1Y D oty TR SR GO DT Gl G (R U G + 3 ¢
)

What makes it rain? Rain falls from clouds for the same reason anything
falls to earth. The Earth’s gravity pulls it. But every cloud is made of water
droplets or ice crystals. Why doesn’t rain or snow fall constantly from all
clouds? ‘

The droplets or ice crystals in clouds are exceedingly small. The effect of
gravity on them is minute. Air currents move and lift droplets so that the net
downward displacement is zero, even though the droplets are in constant
motion. Droplets and ice crystals behave somewhat like dust in the air made
visible in a shaft of sunlight. To the casual observer, dust seems to act in a
totally random fashion, moving about chaotically without fixed direction. But in

fact dust particles are much larger than water droplets and they finally fall.
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The average size of a cloud droplet is only 0.0004 inch in diameter. It is so
small that it would take sixteen hours to fall half a mile in perfectly still air,
and it does not fall out of moving air at all. Only when the droplet grows to a
diameter of 0.008 inch or larger can it fall from the cloud. The average
raindrop contains a million times as much water as a tiny cloud droplet. The
growth of a cloud droplet to a size large enough to fall out is the cause of
rain and other forms of precipitation. This important growth process is called

“coalescence” .

7. Why does rain fall from clouds to earth?
A. Because the cloud cannot keep water droplets.
B. Because the ice crystals in clouds are too small.
C. Because of the process of coalescence.
D. Because of the force of gravity.
2. Ice crystals do not immediately fall to Earth because they
A. are mostly evaporate
B. are kept aloft by air currents
C. are drawn by electrical charges
D. combine with other chemicals in the atmosphere

3. According to the passage, drops of water larger than 0.008 inch in diameter

A. would never occur B. would fall to earth

C. fall at a very high speed D. are not affected by gravity
4. The last word of this passage “coalescence” refers to

A. the growth of droplets

B. the growth of clouds

C. the movement of raindrop

D. the effect of the earth’s gravity
5. What is the main theme of the passage?

A. Types of clouds.

B. The movement of raindrops.

C. The power of gravity.

D. The mechanics of rain.
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Oceanography has been defined as “the application of all sciences to the
study of the sea” . Before the nineteenth century, scientists with an interest in
the sea were few and far-between. Certainly Newton considered some theoretical
aspects of it in his writings, but he was reluctant to go to sea to further his
work.

For most people the sea was remote, and with the exception of early
intercontinental travelers or others who earned a living from the sea, there was
little reason to ask many questions about it, let alone to ask what lay beneath
the surface. The first time that the question “What is at the bottom of the
oceans?” had to be answered with any commercial consequence was when the
laying of a telegraph cable from Europe to America was proposed. The
engineers had to know the depth profile (GE{RIEIR) of the mute to estimate
the length of cable that had to be manufactured.

It was to Maury of the US Navy that the Atlantic Telegraph Company
turned, in 1853, for information on this matter. In the 1840s, Maury had
been responsible for encouraging voyages during which soundings (il] %) were
taken to investigate the depths of the North Atlantic and Pacific Oceans.
Later, some of his findings aroused much popular interest in his book The
Physical Geography of the Sea.

The cable was laid, but not until 1866 was the connection made
permanent and reliable. At the early attempts, the cable failed and when it
was taken out for repairs it was found to be covered in living growths, a fact
which defied contemporary scientific opinion that there was no life in the
deeper parts of the sea. Within a few years oceanography was under way. In
1872, Thomson led a scientific expedition, which lasted for four years and
brought home thousands of samples from the sea. Their classification and
analysis occupied scientists for years and led to a five-volume report, the last

volume being published in 1895.



